WOpk 26 4 B

kT T K E F R SRR A




F1R  EFEFEOHR
e Q44FEE 254F B 264F
IEH Ejfl[‘ — v i Dy —4 v [ DY . 4 K== [ Sy
OB | RRMEELL | 5O | XIRTEEL | 32O | R
= d 4 100.0 4 100.0 4 100.0
i@ﬁkg Frdf 106 105.0 105 99.1 96 91.4
%M(g Frdf 106 105.0 105 99.1 92 87.6
gl%kg Tl 0 a 0 a 4 -
dekn | T 0| - I o -
ek il
7K m 1,810 100.0 | 1,810 100.0 | 1,810 100.0
B R
(0) (0) (0)
Tk B % A 0 — 0 — 0 —
(1)

OfaARF L, BN P32 gL 975,
Otk B2k (

SISt Gl N




FoFk RIS
I 4 7 H B IS g
BB b ) |t | 4 B) [ smivEEk] (A - ®) | W/@®)x100

T % T % T %
16 4,456 81.5 2,165 47.2 2,291 205.8
17 4,365 98.0 1,795 82.9 2,570 243.2
18 4,072 93.3 4,256 237.1 A 184 95.7
19 4,518 111.0 4,685 110.1 A 167 96.4
20 4,722 104.5 4,841 103.3 A 119 97.5
21 4,199 88.9 4,504 93.0 A 305 93.2
22 2,944 70.1 4,373 97.1 A 1,429 67.3
23 3,863 131.2 4,499 102.9 A 636 85.9
24 3,728 96.5 4,505 100.1 AN TT7 82.8
25 3,583 96.1 4,951 109.9 A 1,368 72.4
26 3,295 92.0 4,872 98.4 A 1,577 67.6




W3k PR DOHER

(CHAZ - ARk EE S BITAEE SIS %)

B 244 254F 264F S
@ (M) | WERREE [EREERELE| & % () | Mpklt |WAmeEfzte| & %0 (1) | MRkt [SERieEEEk
fa o K I 4R| 3,647,100 97.8 96.5 | 3,503,030 97.8 96.0 | 3,174,270 96.3 90.6
% 3t L F UL 2% 0 0.0 - 0 0.0 - 0 0.0 -
2
§ fn = F A #H & 14,625 0.4 100.0 14,625 0.4 100.0 14,625 0.5 100.0
ﬁ%@ﬂﬁﬁ¥ﬂﬂ§ 0 0.0 - 0 0.0 - 0 0.0 -
at 3,661,725 98.2 96.5 | 3,517,655 98.2 96.1 | 3,188,895 96.8 90.7
SN G 8 S 0 0.0 - 0 0.0 - 0 0.0 -
=4 .
¥ fn = F A #H & 0 0.0 - 0 0.0 - 0 0.0 -
4t
Iy | I A 65,838 1.8 96.8 65,418 1.8 99.4 106,082 3.2 162.2
T
i 65,838 1.8 96.8 65,418 1.8 99.4 106,082 3.2 162.2
G 3,727,563 100.0 96.5 | 3,583,073 100.0 96.1 | 3,294,977 100.0 92.0




A3

i A A beage 3k (H 1))

(BT )
A I 254 264 g

4 314,470 303,750 A 10,720
5 315,660 324,280 8,620
6 221,580 211,630 A 9,950
7 315,520 259,960 A\ 55,560
8 197,720 223,250 25,530
9 310,500 255,740 /\ 54,760
10 248,580 245,720 A 2,860
11 236,610 263,700 27,090
12 335,140 290,880 A\ 44,260
1 298,360 255,190 A\ 43,170
2 267,690 240,180 A 27,510
3 441,200 299,990 A 141,210
&t 3,503,030 3,174,270 A\ 328,760




g BMOHER (BHE B

P 244EE 254E 264
& (H) MR (%) [RTRTEE L (%) 4 %8 (H) |4 (%) [SeraiaEEE b (%) 4 (H) e (%) BT (%)
i Eik* § 1,080,251 94.0 103.7 | 1,490,929 30.1 138.0 1,290,319 26.5 86.5
k=] =y
LI TEY 0 0.0 — 0 0.0 — 0 0.0 —
w8 % 170384 3.8 99.6 150,519 3.0 88.3 183,891 3.8 122.2
§ WG| 3,221,532 1.5 98.0 | 3,309,553 66.9 102.7 3,309,553 67.9 100.0
H L .
VE TE TR 2 32,464 0.7 o 0 0.0 B 0 0.0 —
= O fh © o o o
R 0 0.0 0 0.0 0 0.0
3 4,504,631 100.0 100.1 | 4,951,001 100.0 109.9 4,783,763 98.2 96.6
Bl = ow 0 0.0 - 0 0.0 — 88,280 1.8 —
i
Bl g 0 0.0 — 0 0.0 — 88,280 1.8 —
& 3 4,504,631 100.0 100.1 | 4,951,001 100.0 109.9 4,872,043 100.0 98.4




F6F  MEE R AR TR
(HA7: 1, %)
El 25 Ge i3 26 L8 i3
oE e | et (5D RE 00| e | et [0S R o)
At # 0 0.0 of - 0 0.0 of -
TR 1 A 3,310 66.9 88 2.7 3,310 67.9 0 0.0
BN 1Y 0 0.0 0 - 0 0.0 0 -
z o 1,641 33.1 358 27.9 1,562 32.1 AT A48
at 4,951 100.0 446 9.9 4,872 100.0f A7 A16




TR 1m 7o B - K5 KRR OHER

NG 2L 2541 26471
KT
e 42.41 47.21 52.81
Hf WA
R 34.34 33.40 34.41
o A 8.07 A 13.81 A 18.40
ﬁa(jnji)i 106,219 104,869 96,378
ﬁl%‘i 106,219 104,869 92,256
ﬁ(ﬂz)g"; 100.0 100.0 95.7

YA N
% fi 46 B = —28 ﬁ; ﬂﬁ g 3’1;‘21’%2 =34.41 1
S %K B = § e SIA0 gy 1

B M = TEMKEEEERN — ZFLTHEE — MR

4,872,043 — 0 — 0 =4,872,043



HeF

RITAR BE PR (e FR SR

BPEDER
25 E E«*F 26 /EE E - SRR
7 g : — o[ T
& B () W) & & () [HERE (%) g
1 [EHEE&E 72,402,307 60.56 69,092,754 58.56] A 3,309,553 95.4
(1) AIE & & e 72,402,307 60.56 69,092,754 58.56] A 3,309,553 95.4
(2) LI [ i PE 0 0.00 0 0.00 0 —
o) % ol 0.00 ol 000 of —
2 REVEPE 47,159,336 39.44 48,894,130 41.44 1,734,794 103.7
(1) Bl 4 78 4 47,159,336 39.44 48,894,130 41.44 1,734,794 103.7
2 K I 4 0 0.00 0 0.00 0 —
(3) 07 . n 0 0.00 0 0.00 0 —
4) mi ¥ & 0 0.00 0 0.00 0 —
‘& JE & Bt 119,561,643 100.0 117,986,884 100.0f A 1,574,759 98.7
AR - EARDH
25 JE 26 - JE S B AR
B g ; - e[
& B (D) W) & & (1) Wt (%) g
3 B aE 2,549 0.00 4,856 0.00 2,307 190.5
(1) Z OB ol 0.00 ol 0.0 ol —
QX H £ 2,549 0.00 4,856 0.00 2,307 190.5
Q)i =z & 0 0.00 0 0.00 0 —
4 BARE 96,838,600 81.00 96,838,600 82.08 0 100.0
(1) B BEARE 96,838,600 81.00 96,838,600 82.08 0 100.0
(2) fENE R4 0 0.00 0 0.00 0 —
5 F&4 22,720,494 19.00 21,143,428 17.92| A 1,577,066 93.1
(1) EATR A4 0 0.00 0 0.00 0 —
(2) FIZ& T4 4> 22,720,494 19.00 21,143,428 17.92| A 1,577,066 93.1
HBIEEAN &5 119,561,643 100.0 117,986,884 100.0f A 1,574,759 98.7




ER N E S

i
(H7: 1)
B e K
PRARD B (5 08 e % | SARMSEE G 2,522
WO R | M | SRR 2,200
R T KB | TR GRE T 134
Gl 4,856




AR /K B B S | SR FE RIS R LR

X 4y | AWEACNE| B - BRNE | B = — VB & 7t
I . OE=—/LE%E
SRR 154 0 % 100 % 0 % 100 % EF‘ E /EJ.IJ ’_é_v; *i J:[: - s S
0 m 1,790 m 0 m 1,790 m OREEANE
TR 164 0 % 100 % 0 % 100 % 100%
>
0 m 1,790 m 0 m 1,790 m
o) (o) o) o)
TR L TAE 0 % 100 % 0 % 100 %
0m 1,790 m 0m 1,790 m 80%
o) (o) o) o)
S 1S4 0 % 100 % 0 % 100 %
0 m 1,790 m 0 m 1,790 m
o o o o 60%
e 194 0 % 100 % 0 % 100 %
0 m 1,790 m 0 m 1,790 m
o) O, o) o)
R 204 0 % 100 % 0 % 100 % o
0 m 1,790 m 0 m 1,790 m
o) O, o) o)
S 2 1A 0 % 100 % 0 % 100 %
0 m 1,790 m 0 m 1,790 m 20%
o) [0) o) o)
S e 204 0 % 100 % 0 % 100 %
0 m 1,790 m 0 m 1,790 m
b 0 % 100 % 0 % 100 % 0%
P23 1G4 ITAERE  IS4EME  194EHE 204EE 214EJE 224EJE 234EJE  2M4EE 254EE 264EE
0 m 1,790 m 0 m 1,790 m
o) [0) o) o)
S e 244 0 % 100 % 0 % 100 %
0 m 1,790 m 0 m 1,790 m
o, o) o, o,
254 0 % 100 % 0% 100 %
0 m 1,790 m 0 m 1,790 m
o, o) o, o,
264 fE 0 % 100 % 0% 100 %
0 m 1,790 m 0 m 1,790 m




AR o AT I il 244 ~ 264F- £ D HEFS )
e B =N 8 # (%) 2
H24 H25 H26
H OB+ R4
E% E; f§ g; 100 97.7 100.0 100.0 68.0
AEEARAFT
[ E & pE [ & & P v
x & 100 62.6 60.6 58.6 85.8
" AR R|EREFRISEFETEAR
‘ TRENE PE %
woE e R 100 1,684.1 | 1,850,113.3| 1,006,880.8 | 3,669.5
TREh AL
SR FHL, Rk 254 R A HE LD
R o M O R 244F FE ~ 264 FE D HERS )
W H 5 S = (o) Wedt
H24 H25 H26
&R v
TR S e % 100 85.9 72.4 67.6 132.0
R 2
HRNE —ZFE LHFNEE
N S e R 100 84.4 71.0 66.7 132.8
EHEEH - LEEH
MEBE1ANYT eS| g
D E N 4R - - - —
( F M )| HiEEEsEkEE

SILFHL, PRl 254 R R RHME LD




